


1,252m)

829,400

2,110km? 133km
5
H12 14
500 15,000 2
H13 15
280 1 2 154,000
2
H13 14
350 2 4 2 5,100
2 1
H16 17
2 8500 2 300 600 3
H18
8,000 2 1,500 1 4
[H18 23 ]
1,000 1
12
H18 852
1,372
62
18 6




33

13 11 13
16
17
9 12
1000
900 o
800 E
700 &9 L]
600
500
400 &3
300
200 167 %
100
: =
9 12 15
«—  —»
<« >
< >
(9%) ¢ (10%)
(23%) as
(61%) (69%)
15

15

B&G




16 5
CVM
[
1 =1,372 = 326 / /
2 =1314 = 22,758
3 = 168 [
= 890
326 / x 22,758 x 12
= 2,075
| | = 38
C B
+ =1482 + = 2113
4 CVM
5 2km
4%
6
05 4
7
= + 50
B/C 143
1,500 374 249 326




